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Key Learning: to use bonds within 10 to identify bonds within 20

Success Criteria:

I can recall number bonds within 10

I can see a pattern between bonds within 10 and within 20

I can use my number bond knowledge to find number bonds within 20
I can record different bonds within 20

I can set my work out correctly with one digit in a square

e number bond sum commutative pattern

part whole ten similar
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What do you notice?

3+2=5 2+1=3
13+2=15 2+11=13

We can use our bonds within 10 to help us learn our bonds within 20!



Lot

If our whole has a 10 more, we just add 10 to one of our parts. WP

3+2=5 2+1=3
13+2=15 2+11=13
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What number bond is represented in the pictures?
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There are ___red counters.
There are ___ blue counters.
Altogether there are __ counters.
—+t__= +__ =

There are ___red counters.
There are ___ blue counters.
Altogether there are ___ counters.
—r__ =




Eva writes this calculation: 18 — 5 =13 \

Which of the following could she use to check her work?

15+5 15—95

18 —13 SR

Which number bond within 10 could she also use to check her work?

3+5=8,
because then we also know that

8-5=3



Use your number bond knowledge to fill in the gaps in the
equations:

3+ =5 5+ =6
13 + =15 5+ =16
1+ =9q 4+ =8
1+ =19 14 + =18
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True | False

X
If4+0,0+4, 1+ 3 3+ Tand 2+ 2are number bonds to &,
thep the only number bonds to 14 must be:
14+0,0+14,11+3 13+1,12+2and 2+ 12

Here is an incomplete bar model

The total is greater than 10 but less than
20

What could the missing numbers be?
How many different combinations can
you find?
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What is e save?

Key Learning: to apply bonds
within 10 to find bonds within 20

What s different?
M s e et

7+3=10 \l*

s A

743=20

20=7+13

Jack represents a number bond
to 20 in the part whole model.
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Can you spot his mistake?
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Correct the mistake in green pen.







